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Geraldine Georgina Jones loved making models — big ones and small ones.
Her room was filled with ships, dinosaurs, birds, trains and tiny animals.
Geraldine Georgina Jones took great care when making her models.

She carefully glued the pieces together and painted them, using fine
brushes and tiny pots of paint. But just as she finished painting Falcon

on the biggest model plane she had ever made, disaster struck!

A sudden gust of wind swooped through her window. It lifted up the plane
and sent it gliding around the room. The plane bumped against her T-Rex,
tipping it off the shelf. As the dinosaur crashed to the floor, it hit the side
of the tall ship sending it sliding off the table. Both ended in splinters on
the floor. Geraldine Georgina Jones gaped at the mess.

BUT the wind had not finished ifs little game. It gathered up her tiny animals
and sent them spinning around the room. Geraldine Georgina Jones rushed
to the window and slammed it shut. Without the wind to hold them up,

the animals fell to the floor. The tiny animals broke into even tinier pieces.

Geraldine Georgina Jones sat on the floor amongst all the broken bits
and pieces. The plane glided gently down and landed beside her.
Geraldine Georgina Jones took one look at it and burst into tears.

Read the text and shade a bubble or write an answer to each question.

What is the best title for this story? SUMMARISING
Geraldine Georgina Jones Georgy makes a Plane

The Playful Wind Flight of the Falcon

Why do you think the writer wrote this story? PREDICTING
(O to tell a true story

(O to make the readers laugh

(Oto put in a newspaper

to report an unfortunate accident

In this StOl‘Y, a model is: MAKING CONMECTIONS
a modern toy a small copy of something
(O something sold at a market  (C) a painting
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Mark the words that mean the same as disaster. MONITORING

(O torment O tragedy
(O misery ) misfortune
Which of her models was T-Rex? MAKING COMMNECTIONS

() a wild animal
(Y a dinosaur

() a large bird
() aturtle

Which words in the story tell you that the

dinosaur and the ship were made of wood? MAKING CONNECTIONS
Geraldine Georgina Jones gaped. This means: MONITORING

{ )she took a quick look
( ) she stared with her mouth open

{ )she giggled
she stepped backwards

MNumber the events in order from 1 — 4. SUMMARISING

—

The dinosaur hit the tall ship.

S
—_—

A gust of wind lifted up the plane.

| —

The models lay broken on the floor.

C The plane bumped the dinosaur.

Explain what happened when
Geraldine shut the window. SUMMARISING

Why do you think Geraldine Georgina
Jones burst into tears? PREDICTING

NUMBER OF CORRECT ANSWERS 10
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7x7= 6x6= 9x3= 8x7= 2x4= 4x2= 6x7= 6x3=
4x2= 8x7= 4x2= Sx4= 8x7= Ox 7= 9x6= | 3x1=
Ox7= 7x5= 9x7= 7x4= 6x4= 8x7= 5x2= 8x7=
7x6= 4x4= 4xd= 7x7= 9x3= 3x4= 4x4= 7x6=
6x7= 7X7= 8x4= S5x2= 7x7= 5x4= 7x5= 3x2=
2x4= 8x6= 8x7= 6x3= 8x6= 7= 6x8= 8x3=
8x7= 3x4= 7x3= 9x7= 7x4= ax2= 8x4= 9x7=
Ixi= Ox6= 7x5= 6x4= Ixl= 7X7= 4x4= bx6=
0x5= 3x1= 7x7= 3x9= 8x7= Ox5= Ix7= 7X7=
6x8= 8x3= 7x7=

9x7= 3x2= 6x8= 7x7= 4x2= 9x7= 9x7= 6x3=
7x5= 7x7= 7X3= 8x7= 7x7= bx4= 4x4= 3x1=
8x3= 3x1= 7x7= 4x4= X7 = 4x2= 8x6= 8x4=
8x7= |Ox5= |4x4= |6x7= 5x2= |7x7=  |[3x4=  |3x9=
9x6= 3x4= 8xb= 8x4= 4x4= 6x8= 6x7= 9xb=
4x2= | 7x5= 4x2= 7X7= O9x7= 9x3= 7x4= 8x7=
3x9= 5x4= 7x6= 5x2= 7X5= 7x6= 7x3= 2x4=
8x7= 9x7= 7x4= 2x4= Ox5= 8x7= 8x7= 7x7=
Ixl= 6x6= 9x3= 9x7= 7X7= 7x5= 8x7= 5x4=




74+2= 7+3= 443= 7+2=
2+7= 5+3= 3+6= 3+5= 9+1= 10+0= | 5+4= 6+3=
5+5= 2+5= 6+2= 74+2= 343= 5+0= 2+0= 3+6=
6+3= 7+1= 4+3= 3+6= 6+3= 543= 2+7= 2+42=
9+i1= 3+6= 2+0= 7+1= 6+2= 1+1= 10+0= | 7+i=
742= 7+3= 1+i= 9+4= 5+5= 2+5= 1+1= 1+3=
3+3= 5+0= 9+1= 5+3= 5+3= 4+4= 3+6= 9+1=
6+2= 1+1= 8+2= 6+2= 2+7= T+1= O4li= 10+0=
5+3= 4+4= 5+4= 2+3= 4+d= 8+2= 6+2= S5+4=
4+b= 8+2= 2+7= 1+3= 10+0= | 346= 8+2= 345=
.Léyéi?b “3 . Level20--4 e
Q42= 8+2= 10+0= |9+i= 10+0= | 5+3= 2+0= 1+3=
74+i= 44b= 3+6= 7+1= 5+3= 7+3= 6+2= 7+2=
10+0= | 7+1= 941= 5+4= 6+3= A= 2+7= 9+1=
2+7= 245= 8+2= 6+3= 9+d= 8t2= 9il= 6+3=
3+3= i+l= 6+2= 3+6= A+h= 1+1= f443= 10+0=
6+2= 5+0= 4+3= 7+2= 5+5= 104+0= 1310+0= |346=
5+5= 543= 5+4= 242= 3+3= 3+6= 3+6= 5+4=
6+3= 10+0= | 2+7= 1+3= 7+2= 7+1= 54+4= 242=
543= 1+3= 2+0= 3+5= 2+i= 24-5= 1+i= 544
44+4= 3+6= 1It+l= 10+0= 6+2= 5+0= 8+2= 7+1=
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Activity 53

A B C D A B C D
3x6= |6x9= |3x89= [3xV= 3x7= 3xb=  |Ax7= |9x4=
2x5=  [3x8= |3x0= |9x8= 4x6= 3x8= |6x1= |3x6=
3x9= Ix1= 3x6= Ax6= 2x5= 3x4=  |8x8= |9x9=
bx1l=  |9xb= 8x4= 3x8= 3x8= 3x9=  |3xb=  (8x1=
Ix8=  |3x7= Ox7= Ox4= 7x4= 9x8= |7x9= |2x3=
3xo=  |7xd= |4x7= 3x7= 3x9= 3x7=  |3x8= j1x5=
ox4= 2X6= 3x/= 2X4= 6x9= AX9= Ox9=  |3x5=
dx8= 8x9= 3xd= 3x6= 3x8= 3x9= Ax8= |3x4=
2x5=  3x8=  [9x9=  |3x9= 2x4= 2x5=  [3x0= |6x3=
3x8= |8x1=  |3x8= |4x9= 8x1= 3x9=  |9x8=

A B C D A B C D
PA=3xb=4Ax7=|6x9= 8xl= [3x6= |8x4= |3x9=
8x4= |9x/=  |3x8=  |3x9= 3x9=  |9x6= |9x8= |7x4=
2X5=  |9xb= |4x6= |3x/= 3x8=  |4x6=  |6x4=  |3x5=
3X6= 3x6= 3x0= 7x9= 1x]= Ix8= 3x7= 7x6=
3x7= 3x9= 1x1= 3x8= 3x6= 6xX9= 3x9= 9x7=
2x4= 2x5= 6x1= 3x4= 2x5= 3x8= 2x5= Ixd=
8x1= 7x4= Ox9= 8x9= 3x0= Ixd= 8XY= Ax1=
3x7= 3x9= 2X6= 3x6= 3x9= 3x9= 3x7= 4x7=
4x9= 6x4= Ox8= 3X7= 4x9=  |3x6= bx1= 9x9=
4x8= 3x8= 3x8= Ox4d= O9x9= 3x4= 3x8=
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